
6696 6696.5 6697 6697.5 6698
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

2.5

3

3.5

4

4.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

0.5−

0

0.5

1

1.5

de
lta
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_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

6630

6630.5

6631

6631.5

6632

6632.5

6633

6633.5

6634

ru
n

run:cyclenum {run == 6632}
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cyclenum

0

0.5

1

1.5

2

2.5

3

se
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en
t

segment:cyclenum {run == 6632}



6696 6696.5 6697 6697.5 6698
cyclenum

190−

189.5−

189−

188.5−

188−

us
l_

1X

usl_1X:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

21.5

22

22.5

23

23.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

140.6

140.8

141

141.2

141.4

141.6

141.8

142

142.2

142.4

142.6

142.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

13.5

14

14.5

15

15.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

68.5−

68−

67.5−

67−

66.5−

us
l_

12
X

usl_12X:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

6630

6630.5

6631

6631.5

6632

6632.5

6633

6633.5

6634

ru
n

run:cyclenum {run == 6632}



6696 6696.5 6697 6697.5 6698
cyclenum

185.5−

185−

184.5−

184−

183.5−us
r_

1X

usr_1X:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

23.6

23.8

24

24.2

24.4

24.6

24.8

25

25.2

25.4

25.6

25.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

256

256.5

257

257.5

258
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r_

4e
X

usr_4eX:cyclenum {run == 6632}
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0.5−

0

0.5

1

1.5
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r_

4e
Y

usr_4eY:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

57.4−

57.2−

57−

56.8−

56.6−

56.4−

56.2−

56−

55.8−

55.6−

55.4−

55.2−

us
r_

12
X

usr_12X:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

6630

6630.5

6631

6631.5

6632

6632.5

6633

6633.5

6634

ru
n

run:cyclenum {run == 6632}



6696 6696.5 6697 6697.5 6698
cyclenum

30864.6

30864.8

30865

30865.2

30865.4

30865.6

30865.8

30866

30866.2

30866.4

30866.6

30866.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

6358

6358.5

6359

6359.5

6360

us
l_

co
il3

usl_coil3:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

6809

6809.5

6810

6810.5

6811

us
l_

co
il4

usl_coil4:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

1599−

1598.5−

1598−

1597.5−

1597−

us
l_

co
il6

usl_coil6:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

27631.2

27631.4

27631.6

27631.8

27632

27632.2

27632.4

27632.6

27632.8

27633

27633.2

27633.4

us
l_

co
il7

usl_coil7:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

6630

6630.5

6631

6631.5

6632

6632.5

6633

6633.5

6634

ru
n

run:cyclenum {run == 6632}



6696 6696.5 6697 6697.5 6698
cyclenum

27412.4−

27412.2−

27412−

27411.8−

27411.6−

27411.4−

27411.2−

27411−

27410.8−

27410.6−

27410.4−

27410.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

5411−

5410.5−

5410−

5409.5−

5409−

us
r_

co
il3

usr_coil3:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

5055

5055.5

5056

5056.5

5057

us
r_

co
il4

usr_coil4:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

685−

684.5−

684−

683.5−

683−

us
r_

co
il6

usr_coil6:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

25391.5

25392

25392.5

25393

25393.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

6630

6630.5

6631

6631.5

6632

6632.5

6633

6633.5

6634

ru
n

run:cyclenum {run == 6632}



6696 6696.5 6697 6697.5 6698
cyclenum

427.5−

427−

426.5−

426−

425.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

71.5−

71−

70.5−

70−

69.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

20

20.5

21

21.5

22

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

466.8−

466.6−

466.4−

466.2−

466−

465.8−

465.6−

465.4−

465.2−

465−

464.8−

464.6−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

91.5−

91−

90.5−

90−

89.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

20

20.5

21

21.5

22

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6632}



6696 6696.5 6697 6697.5 6698
cyclenum

177.2

177.4

177.6

177.8

178

178.2

178.4

178.6

178.8

179

179.2

179.4

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

41.5

42

42.5

43

43.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6632}
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cyclenum

9.4−

9.2−

9−

8.8−

8.6−

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

187.5

188

188.5

189

189.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

19−

18.5−

18−

17.5−

17−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

7.5−

7−

6.5−

6−

5.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6632}



6696 6696.5 6697 6697.5 6698
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242−

241.5−

241−

240.5−

240−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

86−

85.5−

85−

84.5−

84−

12
X

_c
oi
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12X_coil3:cyclenum {run == 6632}
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cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8
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X
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12X_coil4:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
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9

9.5
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X
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oi
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12X_coil6:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

428.8−

428.6−

428.4−

428.2−
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427.8−

427.6−

427.4−

427.2−
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426.8−

426.6−
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X

_c
oi
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12X_coil7:cyclenum {run == 6632}

6696 6696.5 6697 6697.5 6698
cyclenum

6630

6630.5

6631
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6632.5

6633

6633.5
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ru
n

run:cyclenum {run == 6632}
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